if the following permutations are linear, circular, or reflective.

e people at a round table relative t«z;io})r 8. 6 players ina hudd1e< s
—
. Charms on a necklace with no clasp C (Z. 10. Arranging digits of a 5 d1g1t number

/
Il Keys on a key rin == "/ 12. flags strung on a
| fe, ?) |

Calculate the following usmg permutatwns, combinations, or the counting prmc:ple. SHOW YOUR Wi

13. Seven different letters form a 4-letter pin code. If the letters can be repeated how many different codes

are possible? ! ‘
HE @l ek - 9\ U(O[ _zz o

14. A restaurant serves 5 main dishes, 4 salads, and 8 desserts How many different meals can be orderedlf e
each has a main dish, a salad, and a dessert?

£ \\ao

15. In how many ways can 7 members of a family be seated 51de by 51de ina mowe theater if Dad hastositat
the one and only aisle seat? , .

b .- 4.3 -\ oad

16. There are 8 different Taylor Swift songs on iTunes. You have enough money to buy 4 of them How many
different selections are possible? ol

C(%,'h) = g "‘lo

- B P ‘.17 An exam has 5 essay questions. You are required to answer 4 of them. How many dlfferent (
- possible? [

- [
e LH o D |
- ‘How many ways can you arrange 6 math books 2 social studies cooks, and 2 science book
ust stay to gether? - :




many ways can the word “HIPPOPOTAMUS” be arranged? 1o~ total

P>3 ! 30‘)0\\(68 00

I\

- 0>a Bian
SR How many different committees can be formed from 6 teachers an
~ have 2 teachers and 3 students? G! so! : A
B C(593) - EURRCIE I i5-H4bAN

!!  24. Ms. Norris and her twin are taking a picture with 6 of their friends on their birthday. How many =
arrangements are possible if Ms. Norris and her twin have to be in the middle?

- o v 3 A 4
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25. Expand (2x — 3)* using the binomial expansion formula.

° 4 1‘
; 'C‘(q)o)‘(ax)q('5)°+ C(q,\)(3¥)3(~3)' rC(L(‘a)(a;g)"(.5)7-,, s (4/3) (ax)l(-3)3+C('-l—} D) (—6) b
o fox? = o803« Gt 4+ Geax-aTie | S

! — 10« 2ibx® bk +81 ]

o

of iﬁé_éxpansion ofr(a - 25)7. =g
1,5) 0/ (2 atgl’  [-ag0a'lb /
CC_’ ) 5> a (’2\0\> 354 - [ ~3&O0a
27. Find the coefficient gf the gth term of the expansion of (x —2)%. =3 7\—' — el
’ M - .eﬂ :T'
C (3/45 x (-2) W-xie St 50

Solve the following for n:

26. Find the 4'" term

e e

b n! . n-=3)! _ : e Ty ) o
28, =12 29. ——— =42 30. 4/n!/=5!/(n-1) e
G & . (n-5)! el X l(n-0):
4 m(hfg?njl-ﬁ - (> (n;ﬁr{mM: Yo ¥ (n-n it S(n 0 Pt
e B win=Sioet
o { \ nq-;'(v\i—l?\‘;“(?‘ (MS(. : ]
w1 =302 O Ylp-s!

(n-10)(W+»= 0 L



